NOTES' REVISIONS
1) ROD SHOWN AT MAXIMUM RETRACT [ Ti715/21 RELEASED EAS
%; E\%BSFTURL?lg-ERl%OKE\?O EXPOSED ROD TO B [12/23/22 UPDATED SHEET FORMAT ALM
CALCULATE FULL EXTENSION - - -
4) KEEP IN MIND EXTENDING MORE OF THE
ROD CHANGES SPRING PACK PRELOAD
[83.9] ROD DIM C | TOTAL ROD
o - 330 p/N |PIMAT DIMB | qpep) | LENGTH
[ 3 G264 | L [604] 007604 | 126:21 [112.710.50| 1/4-28 | [66.8] 2.63
2.38 ;
- I == 002079 | 142! |132.011.26) 1/4-28 | [95.3]3.75
@ [5l8] el 0T 4 002080 | 17%8) |132.011.2¢] 174 -28 | [111.3] 4.38
lg Al 21y 223 | | 005252 1573} 1120.3]0.80| 1/4- 28 | [110.0] 4.3
© 005988 | 1'7:011[32.0]1.2¢] 1/4 - 28 | [208.3] 8.20
h25] H T N 005989 | 1'°2:'11(32.0]1.2¢| 1/4 - 28 | [222.8) 8.77
: T TIN X )
l o) 006574 | 1722V 1132.011.26) 1/4-28 | [232.6] 9.16
B Sils 006939 | 57:41 |159.912.36| M6 x 1.0| [129.8] 5.11
L [393'? —— |006940| 1250 |[59.912.36] M6 x 1.0 [165.6] 6.52
006941 | !'#4:31159.912.36| M6 x 1.0| [184.7] 7.27
= 355] 006942 | ! 02:11159.912.36/ M6 x 1.0| [203.2] 8.00
(. ©1.320B.C. 007002 | !'2%:)|38.11.50| 1/4-28 | [185.2] 7.29
007438 | 1971 132.011.26| 174 -28 | [146.1] 5.75
007652 4 71 |[32.0]1.2¢| 1/4 - 28 | [260.4] 10.25
© 1| 850 »a
UNLESS OTHERWISE SPECIFIED PART DESCRIPTION
DEGARzs: DIMENSIONS AREIN MVI 2.5D PUBLIC DRAWING
DO NOT SCALE DRAWING SIZE PART NO. REV
A| SEECHART | B
T s o8 & 1 SOLE RO OF T4 PE0PUCT __PROJECT NUMBER: 2022-117
é};g;g???\?g%g\lco{‘y‘%;S}E\TBESJAS A WHOLEWITHOUT THE WRITTEN PERMISSION OF TIiAL DR:\Y:ABY | D]A;E/Sg/;g; CHEZSEE BY: | D/?TQE/CZHSE;:ZKED| SHEET. '| OF '|

5 4 3 2 1

Last saved: 12/23/2022 11:05:57 AM by: amcmaster



	Sheet1
	Drawing View16
	Drawing View17
	Drawing View18


